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1. 9 g 4 3R B, 3x3ahﬁasa1a{§
%lvf&|4|-—- A |B|=—

|2B(adj(34))| & #F 1% ?

729’

(@) 27

o 2~/_

27
© i

@ 1

.afe z < aft ge g 3R
iB+2z+i=0, W&l i=+-1,

A (|z]+1)° TR 2
@1

() 4

) 81

@ 121

. |} FHT 0, 1, 4, 5 H WART &K, 3T H

grrafa feg fomm s 1 = w s
arelt | GEATAT T ANTHA FAT © ?

(a) 44440
(b) 46460
(c) 46440

(d) 64440
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4.qﬁx,y3ﬂt z,@%wg,ﬁf

xy + yz + zx N HF HTE ?
(@ 0
(®) 1
(© 2
@ 3

. T& gey % 7 Rwder § (4 wfemm sk

3 gew) | SEh geht & st 7 Reagr
£ (3 wRemmg sk 4 gew) | A A
3 wfgemsit 3K 3 geut &t fFam y&aR
¥ froifa = e § aifs o @
3 Reder gev & @ 3k 3 fwder seh
It & & ?

(a) 340
(b) 484
(c) 485

(d) 469

.u& Pt POR =0 vaR & &

3 fag PO w1 w f&a €, 4fag QR Yo
waRsfgrRP YT R @ § 1w
figell @ ¥ B e WA R P
ST T | 3| WER S g Bt
& g et R 2

(a) 205
(b) 206
(c) 215

) 220



1. Let 4 and B be matrices of order 3x3.

If |4| = B
|4 \Eand| |= 9 , then what
is the value of |2B(adj(34))| ?

(a) 27

®) 24_

(© 5

@d 1

.If z is any complex number and
iz? + 22 —z+i=0, where i = +/-1, then

what is the value of (|z]+1)’?
@ 1
b) 4
© 81

@ 121

. What is the sum of all four digit
numbers formed by using all digits
0, 1, 4, 5 without repetition of digits ?
(a) 44440
(b) 46460
(c) 46440

(d) 64440

4. If x, y and z are the cube roots of unity,

then what is the value of xy + yz +zx ?
(@ o0
(b) 1
(c) 2

d .3

. A man has 7 relatives (4 women and

3 men). His wife also has 7 relatives
(3 women and 4 men). In how many
ways can they invite 3 women and
3 men so that 3 of them are man’s
relatives and 3 of them are his wife’s
relatives ? :

(a) 340
(b) 484
(c) 485

(d) 469

. A triangle POR is such that 3 points

lie on the side PQ, 4 points on OR and
5 points on RP respectively. Triangles
are constructed using these points
as vertices. What is the number of
triangles so formed ?

(a) 205

(b) 206

(c) 215

(d) 220
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7. afe logya=p, logge=2p 3R

logse = 3p, T (ace)% ferereh SR ® 7
(@) bd’f?

(b) bdf

© bd

@) p’d*f?

. afe adfieo

a0+a}x+azxz+aytj+xd=0%“§
—‘\/5 3%(\/5 g) E‘ﬁ ag, ay, dy, ay
quites ¥, at Frafafea # @ SF-a

TR
@ ay=a;=0
(b) ay=03Ray=-5
6, a3 =0

03Ra,=5

(€) ap=

d) a =

9.ﬂﬁ?ﬁﬁiﬁzlaﬂtzzsamﬁa”r

wffa wemd € @ 252 @
21— 2y

Re[;—;]+1 v SR & ?

(@ -1

(b) 0

© 1

@ 5
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10. afe 26! = n8k, W&l k 3R n GAYUTTS €,

11.

A k & srfrehaw A TR ?
(@ 6
(b) 7
) 8

d 9

A WIfe n & QA FoEAa AR
A 3R B & wed # Frafafe o

R’ fER Eﬁﬁq .
1. adj(AB) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (4B)adj(AB) — |4B|I,, n Fife &
TF A ITE ®

I7deh @Al # A o w@ € 2
(a) WS St T

(b) A TH FAA

(c) ¥a T FI4

(d) |t o\ FuA



7. If logya = p, logc = 2p and logge = 3p,
then what is (ace)% equal to ?

(@) bd*f?

(b) bdf

) bd’f

) b»%d%?

g 1 —'JE and \/5 are roots of the equa-
tion ay + ax + apx? + agx® + x4 =0
where ay, a,, a,, a; are integers, then
which one of the following is correct ?
(@A ay=a3=0

(b) a,=0 and a3 =-5

() ap=6,a;=0

(d aj=0and a, =5

. Let z; and z, be two complex numbers

Z) ‘f'Zz

such that =1, then what is

4 )
2

Re| — | +1 equal to ?
Zy

(@) -1
®) 0
(¢) 1

@ 5

10. If 26! = n8*, where k and n are positive

11.

integers, then what is the maximum
value of k ?

@@ 6
() 7
©) 8

d 9

Consider the following statements in
respect of two non-singular matrices
A and B of the same order n :

1. adj(4B) = (adjA)(adjB)

2. adj(AB) = adj(BA)

3. (AB)adj(AB) — ]AB]I,, is a null
matrix of order n

How many of the above statements are
correct ?

(a) None
(b) Only one statement
(c) Only two statements

(d) All three statements

A — RRAN-B-MTH



12. Ffe n & FHAvia AR 4 & del (© 10(1 - ), 10(10 - w?), 1000

# frafafea wu@t ) fer $ifte
@ (1+w), (10 + 0?), -1

1. A(adiA") = A(adid)T

2. aft 42 = 4, S AT n 1 TEHE 15. (1+i)* + (1 - i)* Foreds s @, et

e © i=+-1%7
3. AR A3 = A, NAFHE n T v () 4

AR @ e
I9YTh FUAT A A HA-H el § 7 div
(a) Sae 132 iy
(b) Hae 23R 3

16. Ffe 3 % v foww wwfim sge 4 &

@ 1,23R3 Pt

1. &t fael saga g # |
13. 9IR 3 & Vet feraett emgel s €

Foren wslt oo & & 2 2. 3megg % welt faewl smat @
IR [T B
(@) 625
(b) 500 3.A3Tﬂ%|a53ﬂai§%l
(c) 400 I9ATH Al A A S8 el § 2
02 (a) FaeT 132
14. afC 0 # 1, TF 1 79A &, A (b) ¥ 23K 3
(z—100)* + 1000 =0 & T & ?
@ 10(1 - o), 10(10- @?), 100 (c) Fa 133
(b) 10(10 - @), 10(10 — @?), 90 (@ 1,23R3
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12.

13.

14.

Consider the following statements in
respect of a non-singular matrix 4 of
order n :

1. A(adid™) = A(adjA)”

2. If 42 = A, then 4 is identity matrix
of order n

3. If 43 = 4, then A is identity matrix
of order n

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

@ 1,2 and3

How many four-digit natural numbers
are there such that all of the digits are
even ?

(a) 625

() 500

(c) 400

(d) 256

If o #1 is a cube root of unity,
then what are the solutions of

(z - 100)3 + 1000 =0 ?

@@ 10(1 - ), 10(10 — ®2), 100

(b) 10(10 - w), 10(10 — w?), 90

(¢) 101 — w), 10(10 — ®?), 1000

@ (1+ ), (10+ w?), -1

15. What is (1+i)*+(1-i)* equal to,

where i =+/-1 ?
(@ 4
() 0
(c) —4

(d -8

16. Consider the following statements in

respect of a skew-symmetric matrix 4
of order 3 :

1. All diagonal elements are zero.

2. The sum of all the diagonal
elements of the matrix is zero.

3. A is orthogonal matrix.

Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2and 3

A — RRAN-B-MTH



17.

18.

19.

IF 1, 2, 3, 5 H FAN K A
grgfa feg femr swosife e
A St € | 3 @ foRaet d@md 4@
formfora il 2

(@) 120
(b) 24
© 12
@ 6

afe 2120y 7 & fawfsm form s
AN FAT BRI ?

@ 1
(b) 3
© 5
@ 6

co9,49 C0H,3) CA0,n-2)
c(11,6) C(11L5) c(12,n) |[=0,
C(m,7) C(m,6) C(m+1,n+1)

Weddh m > n o 1T 2
(@) 4
(b) 5
(¢ 6

(d 7

RRAN-B-MTH - A

20. afe 4BC U P ®, @ wrfes

21.

cosC sin B 0
tan 4 0 sin B | <A1
0 tan(B+C) cosC
AT TR ?
(@ -1
) 0
() 1
d 3

yfafse 1, 2, 3, 4 &1 W@ W TIF
srege # 4 wfafedt o feam fim
FegE w S wE § (gRER
Fgafa ®) ?

L Xa). 72

22.

(b) 216
(c) 254
(d) 768
AA AT A={xeR - 1<x<1} % |
frefafaa & s-a1/dA-8 40 @@
R T ATESIG FAT 8 /€ ?
L f) = x|
2. g(x) = cos(mx)
d9 fiu T Fe w1 WERT W wE SN
gfm
(a) a1
(b) a2
() 1323l
(d Far 1,982



17. Four digit numbers are formed by

18.

19.

using the digits 1, 2, 3, 5 without
repetition of digits. How many of them
are divisible by 4 ?

(@) 120
(®) 24
© 12

@ 6

What is the remainder when 220 is
divided by 7 ?

@ 1
(b) 3
© 5
@ 6

For what value of n 1s the determinant

Co,4) C€©9,3) C10,n-2)
c(i1,6) Ca11,5 ~ Ca2n) |=0
C(m,7) C(m,6) C(m+1,n+1)

for every m>n?
(a) 4
(b) 5
) 6

@ 7

20. If ABC is a triangle, then what is the

21.

22,

value of the determinant

cosC sin B 0

tan 4 0 sinB | ?

0 tan(B+C) cosC

@~}
(®) 0
(© 1
d 3
What is the number of different
matrices, each having 4 entries that can

be formed using 1, 2, 3, 4 (repetition is
allowed) ?

(a) 72
(b) 216
(c) 254
(d) 768
Letd= {x € R: —1<x<1}. Whichof

the following is/are bijective functions
from 4 to itself?

1. f(x) = x|x|
2. g(x) = cos(mx)

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

- (c) Both 1 and 2

(d) Neither 1 nor 2
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23. 9 +fifvre R foew st (<1, 1) R &

25.

&y ® 3R R={(x,y):|x+y|<2}

T far o g @ fFeafofe #

HI-91 el § ?

(a) R, @gF & | A o w\fiE, 9 &
THhTE ©

(b) R, E&qed 3R gufia & W dwme
T ®

(c) R, Eq 3R HFmeh & W w@fia
T T

(d) R T godal d@ey ©

e sh d iR w4, B, C

¥ forg
(AUB)-{(A-B)U(B-A) U NB)}
foraes s © 7

(2) T s

(b) 4

(c) B

(d (AUB)—@ANB)

afs Brogst ABCH 9T g, b, ¢ ®,

a? bsinA c¢sinA

bsin A 1 cos A
cos A 1

fereres SRR R 7
(@ T |
(b) Pregst = Eprher
(¢) Pyt &1 e
(d)-a2+b2+cz

csin A

RRAN-B-MTH - A
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26.3f¢ a, b, c, APH ®; b, c,d, GPH §;

217.

28.

c,d,e,mﬁ%,?ﬁﬁﬁﬁﬁiﬁﬁ%
FF-91/H9-8 "el /% ?

L a,caﬂT e,GPﬁ%

(¢) 1#R23+!
(d T L,T82

log(x — 1) = logy(x — 3) & &<l <l GEAT
feraet 2

(@ I
b) TH
() @
(d)

xay>1%ﬁq,ﬂﬁ\_‘ﬂ'ﬁﬂ
Iog,['—;-J +Iog)(%J =k, @ k& WE
foreren sRTeR &t it AR B weha ® 7

(@ -1
1
(b) gy

(© 0
d 1



23. Let R be a relation on the open interval
(-1, 1) and is given by

R={(x,y): |x+y| <2}. Then which
one of the following is correct ?

(a) R is reflexive but neither sym-
metric nor transitive

(b) R is reflexive and symmetric but
not transitive

(¢) R is reflexive and transitive but
not symmetric

(d) R is an equivalence relation

24. For any three non-empty sets 4, B, C,
what is
(AUB)—{(4-B)U(B-A)U (4N B)}
equal to ?
(a) Null set

() 4
) B

(d AUB)-(4NB)

25. If a, b, c are the sides of triangle ABC,
then what is

2

a bsinA csinA4
bsin 4 1 cosA| equal to?
csind cosA 1
(a) Zero

(b) Area of triangle
(¢) Perimeter of triangle

(d) a®+ b+ c?

26. If a, b, ¢ are in AP; b, ¢, d are in GP;
¢, d, e are in HP, then which of the
following is/are correct ?

1. a, ¢ and e are in GP

2.

Q| =

1 1 .einGP
& e

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

27. What is the number of solutions of
logy(x—1) = logy(x—3) ?

(a) Zero
(b) One -
(c) Two
(d) Three

28. Forx =2y >1,

let Iog,[-i—)  y !og)(%} =k,

then the value of k can never be equal
to

(a) -1
1
(b) =5
(c) ©
d 1

A — RRAN-B-MTH



sin20 2sin?6-1 0
29.3f¢ A=|cos20 2sinBcosd 0

,ar

0 0 1
frafafaa & & S-w1/a9-8 Fa
R/ ?

1. 4= adj4
2. Afqww wfi smege @
3. A4 =4T

Ao fow T Fe W@ W T IW
qfg:

(a) Fael 1
(b) 132
(c) 133
(d 233
-5
30. (1— x?)m(z- xz—i] & W 7 x10

xZ

T VI F9T § ?
(@ -1
(b) 1
() 10

@ x'% s W AferE =/

RRAN-B-MTH - A
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31. 3fe [mx+3n & WG H 4th 9T % %,
A mn & HE TR ?

(a) -3
() 3
(c) 6

d 12

32.9f a, bR c(@>0,c>0)GPH &,
At wHERT o+ bx+c=0 % doW #
frafafes = far it
1. efteror & srftrerfera o= € |
2. IR & @ H FIG 1 0 R
& o @ W TH G ¢ |

3.W%@mw[§}
I

9T FE H W HH-9 TE R 7
(a) wae 132
(b) Faw 23R 3
(c) *ae 133

(d) 1,233



g iyeta i 31. If the 4th term in the expansion of

n
29. If A=|cos260 2sinfcosf® 0|, then (m+l] 4 §_’ then what is the value
0 0 1 Ep &
of mn?
which of the following statements
is/are correct ?
(@) -3
.4t = ac{jA (®) 3
2. A is skew-symmetric matrix (c) 6
3. A 1=4F d) 12

Select the correct answer using the

: v AL, >0, c> i )
code given below : 32.1fa, b and ¢ (a ¢ > 0) are in GP,

then consider the following in respect
of the equation ax®> + bx+c¢=0:
(a) 1 only

1. The equation has imaginary roots.
(b) 1 and 2

2. The ratio of the roots of the
(©) 1and3 equation is 1:® where @ is a
cube root of unity.

(d) 2and3 3. The product of roots of the
il 32
uation is | —|.
30. What is the coefficient of x'* in the it (02]
-5
20 1
ionof (1-x2) | 2-x*-—| ?
st e ( 8 ) ( 2 xz) Which of the statements given above
are correct ?
-1

@ (2) 1 and 2 only

(®) 1 (b) 2 and 3 only

(© 10 (¢) 1 and 3 only

(d) Coefficient of x'° does not exist (d) 1,2 and 3

13 A — RRAN-B-MTH



S 333k x & wft pfe AW F fag < ﬁcosl@—shl@mwé?

x2 + mx +n & UIieh ®, @ fafafaa sin25°cos25°
F -9 el § ? @ 1
1. mT& ?
e 3 ®) 3
2. nT& qUIfeh & © 2
o fou T Fe W ET R EE oW @ 4
L
(a) Fae1 | 37. (sin 9° — cos 9°) ferereh aTreR ® ?
(b) Fat 2 ) Sds
) 1R 23t 2 .
(d IAM1,TE2 5_3
(b) - 5
3. (P -y)P & e e #
52 © 5-4/5
UG & ANTEA Y ® | 3 & 2
HE HTR ? . 5-5
(a) 1 4
(b) 2
38. afe ws B ABC H, sin’4 +sin®B +
) 4 sin3C = 3sind sinB sinC, a1 ¥Rfirs
d 8

a b e

b ea WWHW%,GIﬁa,b,c

35. 9 WfT A4 ={1,2,3,4,5) R

c a b
;—;;T?%z:ﬁgﬁfmmmﬁ e 1 s £ 7
@@ 10 (@) at+b+c
(b) 20 (b) ab+bc+ca
(c) 30 (¢) (@a+b)b+c)c+a)
(d) 32 @ o

RRAN-B-MTH - A 14



33.

34.

35.

If x2+mx+n is an integer for all
integral values of x, then which of the
following is/are correct ?

1. m must be an integer
2. n must be an integer

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

In a binomial expansion of
G+ )2 -y,
the sum of middle terms is zero. What

£2
is the value of =i ?

y

(@ 1

() 2

© 4

@ 8

Let A= {1,2,3,4,5} and B = {6, 7}.

What is the number of onto functions
from A to B ?

@ 10
(b) 20
(c) 30
@ 32

15

73 cos10°=sin10°
sin25°cos25°

36. What is

equal to ?

@) 1

b) 3
(©) 2
d 4

37. What is (sin 9° — cos 9°) equal to ?

PR 5;«/5
®) - 5;“5
© 5;/3
@ 5;«/3

38. If in a triangle ABC, sin’4 +sin’B +
sin’C = 3sinA sinB sinC, then what is

a b c
the value of the determinant |b ¢ al;

¢ D

where a, b, c are sides of the triangle ?
(@ at+tb+c

(b) ab+bc+ca '

() (@a+b)bto)cta)

d o

A — RRAN-B-MTH



39.

40.

41.

afe cos~lx = sinlx, A famafofea #
H-|T T ® ?

(a) x=1

() x=-

(sinf — cosf)? = 2 & T=l I FEAT
ferat ®, sef —r<0< 7 ?

(a) Foq TH
(b) Fad @
(c) WX

d) = g T

ABC w& Pt =@ weR ® f5

C =600, q S08A+C0SB s ik

o 57)

g7

@) 2
) 2

(c) 1

@ ;/%

RRAN-B-MTH - A

16

42,

43.

44.

‘j15+cotz(§.—2c0t'l 3) fras ELICES

g7

(@ 1

(b) 7

(c) 8

d 16

sin10°-sin50° + sin50°-sin250° +
sin250°-sin10° & A fFes IR & ?

1 i

(@ 32
® -
o 3si210°
(d)' _ 3cosl10°

4




39. If cos 'x = sin”'x, then which one of =
the following is correct ? 42. What is ‘J 15+cot2(z—2c0t_l 3)
@ x=1 equal to ?
(a) 1
1
(b) x s ®) 7
(c) 8
1
€ x=—p d) 16
) x=7 @
43. What is the value of sin10°-sin50° +
1 sin50°-sin250° + sin250°-sin10° equal
@ x=—
to ?
1
40. What is the number of solutions of ° (@) o8
(sin@ — cos@)? = 2 where -t <@ < 7 ?
b a3
(a) Only one (®) B
(b) Only two © 3sin10°
4
(c) Four
3cosl0°
: e
(d) No solution : @ 4
41. ABC is a triangle such that angle 44, What is tan"(-:-]— tan'l(a:i)
— &N° . cosA+cosB a
cos
(5
@ -7
equal to ? 4
(@ 2 4
® 3
() 2 Ve
e -b
(© 1 (c) tan [a2+b2]
(d) _1, \ ) tan"l( 2ab ]
V2 _ a’+b?

17 A — RRAN-B-MTH



45.

46.

frafoafaa # @ fre oiffy ¥ safa,
H R

(cosf —1)x%+ (cosB)x +sinf =0 H
x ST Bel0, x]%%ﬂ@ﬁ’lﬁﬁ%?ﬁr
g7

(a 1-cosp <0
(b) 1-cosf <0
(¢) 1-cosp >0

(d l1-cosp=0

Prsst ABCH, AB=16 cm, BC=63 cm

IR AC=65cm® |

47.

cos 24 + cos 2B+ cos 2C T HIF T

g2
(a) -1
(b) 0
© 1
76
@ =
i f(6)=1+t13119 i OHﬁ:%’
@ f(a) f(B) AR TR ?

1
a ———
: 2

1
(b) 2
() 1
(d 2

RRAN-B-MTH - A

18

48. af¢ tana 3R tanp Gt

2—6x+8=07% T %, ar
cos(2a+2f) N HF T § ?
13

75

13

85

17

85

19

85

(@)

(®)

(©

d

49. tan 65° + 2tan 45° — 2tan 40° — tan 25°

& HE TR ?
(a 0
(b) 1
(© 2
d) 4

50. frafofaa saat w fmr 6ifto .

1. @& B 4BC #, afe
cotd-cotB-cotC>0, @t Bryst s

iy Brgs g |

2. w& B 4BC #, afe
tand-tanB-tanC> 0, @ By =
aiftrr it frager 2

IUATH AT § q RH-A1 /-0 G
R/R?

(a) Faa 1

(b) e 2

(c) 1323t

(d) FTar 1,982



45.

46.

47.

Under which one of the following
conditions does the equation

(cosp — 1)x% + (cosP)x +sinff =0

in x have a real root for B€[0, 7] ?
(@ 1-cosp <0

(b) 1—-cosp <0

() 1—cosp >0

(d 1-cosp=0

In a triangle ABC, AB = 16 cm, BC =
63 cm and AC = 65 cm. What is the
value of cos 24 + cos 2B + cos 2C ?

(a) -1
(b) 0
© 1
76
(d) i
Iff(9)=1+tan9 and a+ﬂ=577r,

then what is the value of f(a) f(B) ?

1
(a) —'E

1
(b)"z'

(c) 1
(d 2

19

48. If tana and tanf are the roots of the
equation x2—6x + 8 =0, then what is
the value of cosQa +2p) ?

13

® 75

13

®) 33

17

© 35

19

(d) 25

49. What is the value of

tan 65° + 2tan 45° —2tan 40° —tan 25° ?
@@ 0
(b) 1
© 2
(d) 4

50. Consider the fbllowing statements :

1. In a triangle ABC, if _
cotd-cotB-cotC >0, then the tri-
angle is an acute angled triangle.

2. In a triangle 4BC, if
tanA-tanB-tanC > 0, then the tri-
angle is an obtuse angled triangle.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — RRAN-B-MTH



S1.

52.

53.

afe g2 +32+ 2x + 6y + 1 = 0 T g
(a,b) R IR Boar c B, A a2+ 2+ 2
& HH TR ?

() 19

(b) 18

(c) 17

@ 11

ok @, -1, .20 @ 1<) TR
x2+y2+zz+2ux+2vy+2wz~l=0
%W%ﬂ?ﬂﬁgg,?ﬁ'u+v+w
foraes s ® 7

(a) 2

(b) -1

(c) 1

d 2

xy-HAS | TR x = 5 gy frefE
frgait &t e @

(@) A

(b) T=

(c) al

(d) FFaq: 3w

RRAN-B-MTH - A

20

54.

S5.

56.

afe T 20— 3y + 62+ 4 =0
gt (Aider) & Rs-aams
<l,m n>%, a‘r49(712+m
A FETE ?

2) &H
(a o
() 1
(c) 3
(d 71

(1, -1, 2) & et g o @ s
feg-sgaa <3, 2, 2> ¥, wwaw

x+2y+3z=18 W fherdt & | Xar 3k
Guae 1 wwog fag w1 € 2

(a) 4,4,1)
®) @ 4, 1)
© (4 1,4)

d (3,47

afs (1, 0, 0), (0, 1, 0) K (0, 0, 1) &

TR ATt FHae h qA-fg (origin to
the plane) & &a ?@p% ar 3p? ferass

TR € 7
@ 4
(b) 3
© 2

@ 1



51.

52.

53.

If (a, b) is the centre and c is the radius
of the circle x2+)2+2x+6y+1=0,
then what is the value of a* + b? + ¢* ?

(a) 19
(®) 18
(c) 17

@ 11

If (1, -1, 2) and (2, 1, —1) are the end
points of a diameter of a sphere
2+y?+ 224+ 2ux +2vy+2wz—1=0,
then what is # + v+ w equal to ?

(@) -2
(b) -1
© 1

(d 2

The number of points represented by
the equation x =5 on the xy-plane is

(a) Zero

(b) One

 (¢) Two

(d) Infinitely many

21

54, If < I, m, n > are the direction cosines of
anormal to the plane
2x—-3y+6z+4=0,
then what is the value of
49712+ m? —n*) ?

(@ 0
(b) 1
(c) 3

@ 71

55. A line through (1, —1, 2) with direction

ratios <3, 2, 2> meets the plane
x +2y+ 3z = 18. What is the point of
intersection of line and plane ?

(@ 44, 1)
(b) 2,4, 1)
© 41,4

d G, 47

56. If p is the perpendicular distance from

origin to the plane passing through
(1, 0, 0), (0, 1, 0) and (0, O, 1), then
what is 3p? equal to ?

(@) 4
®) 3
© 2
(@ 1

A — RRAN-B-MTH



57

58.

59.

afe o Y F Rg-avast <, m,n>
?iﬁﬂl+2m+n=0, 21 —-2m+3n=0%
RE N2+m - AT L ?

(a)

(b)

41

(© 5

2

@ tor

af o W X, 2+ 2y — 1 = 0 7K
2x—y-1=0%@E & wimag fig
¥ B o # e Fide s
AmBmﬁaEﬁ%,?ﬁAB%mﬁg
1 G R ?

(a) 3x+y=10xy
(b) x + 3y =10xy
(C) 3x+y=10

g (-sinb, cosh) ¥ BraR ToRA AT
ﬁi%@xcosﬂwkysing:gq(ﬁaw

(a) xsin6 “_YCOS@ e

(b) xsin® — ycosf + 1 =0

RRAN-B-MTH - A

22

60.

61.

(¢) xsin — ycosd = 0

(d) xcosf — ysin@ + 1 =0

g1 fag P ook o Rlt s

P 3R Q fergalt & fduis #m § 2

@ (T g} (b
o (553
0 (=) (g

w&maﬁﬁam,h+y_3=0
AR 4x+2p+5=0 @mit | e
(a) 6-05
(b) 615

(c) 625

(d) 635



57.

58.

9.

If the direction cosines </, m, n > of a
line are connected by relation
l1+2m+n=0, 2]1—2m+ 3n =0, then
what is the value of 12 + m? — n2?

(@)

29

(b)m

41
© o1
%

@ Tor

If a variable line passes through the
point of intersection of the lines
x+2y—-1=0and2x-y-1=0
and meets the coordinate axes in
A and B, then what is the locus of
the mid-point of AB ?

(@) 3x+y=10xy
(b) x + 3y = 10xy
(c) 3x+'y=10

(d x+3y=10

What is the equation to the straight
line passing through the point

(—sin@, cosf) and perpendicular to the
line xcosf + ysin@ =9 ?

(a) xsinf — ycosf — 1 =0

(b) xsinB — ycosf@ + 1 =10

23

61.

(c) xsinf — ycos@ =0

(d) xcosf — ysinf + 1 =0

. Two points P and Q lie on line

y=2x+ 3. These two points P and Q
are at a distance 2 units from another
point R(1, 5). What are the coordinates
of the points P and Q ?

(a) (1+—~—,

G

2 4

@ (=gt ng il

If two sides of a square lie on the lines
2x+y—3=0and 4x + 2y + 5 =0, then
what is the area of the square in square
units ?

(@) 605
(b) 615
©) 625

(d) 635

‘A — RRAN-B-MTH



62. ABC UF Pryw & frdi 4 ¥ fdwis A for T g W@ oW W e S
(3,5) € | AB 3R AC ot & wen forg g .

FAY: (-1, 2), (6,4) R ¥ | Pt 4BC

¥ S % Frdus w2 € 2 (@) ¥ 1
B 41l (b) ¥ 2
o (Y .
() 13K 23m
I L
(®) (3’3} (d JFar 1,98 2
8
© [2’ 5) 65. <rfga i Iokgar F1 ® AR @Y o &
: T R | 7@t &t s 9t e
@ @z] it 3 A 900 & ?
1
63. ABC TS =geehivita, wfgemg Brgst # | @ 3

T SR Y9G AB IR AC @

TX—y*-B:Oaﬁ-{x-i-y—S:O'q('@ﬁ (b) _!,
T | afe =R o F v For 9§, 2
at cotd Tormer st & ? 1
@ 3 © B
1 @ =
(b) > 5
2
© 3 66. W ST 7=1- f+k #R
@ 2 B=f+2j-k 21 aR Tx(Bxad)-
af"ﬁ]‘*‘}’z,?ﬁ a+ p+y H HE =T
64. T )2 =8x #, T R for wF fig 27 .
Pt i gft 8 zad @ | Frfefaa g
A A -6 /F-8 w9 a7 (a)
1. P& fdurias (6, 443) & &t & (b) 7
2. weaeg H forgar & p & v @ E)ie
8 TS © @ 1

RRAN-B-MTH - A 24



62. ABC is a triangle with A(3,5). The

mid-points of sides 4B, AC are at
(-1,2), (6,4) respectively. What are
the coordinates of centroid of the
triangle ABC ?

8 11
(@ [g’ g)

® (2.3)
e
ot

.ABC is an acute angled isosceles
triangle. Two equal sides AB and AC
lie on the lines 7x—y-3=0 and
x+y—5=0. If 0 is one of the equal
angles, then what is cotf equal to ?

(a)

W | =

(b)

Wi N =

(©
d 2

.In the parabola )?=8x, the focal
distance of a point P lying on it is
8 units. Which of the following state-
ments is/are correct ?

1. The coordinates of P can be
(6, 4\6).

2. The perpendicular distance of P
from the directrix of parabola is
8 units.

25

65.

. Let

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

What is the eccentricity of the ellipse if
the angle between the straight lines
joining the foci to an extremity of the
minor axis is 90° ?

@

U | -

B | —

(b)

(©

&=

(d)

-

A A

=) A A
=i-j+k and b=i+2/-k. If
ax(bxa)=ai-Bj+yk, then what
is the value of a+ B+ 1y ? ,

)

(@ 8
(b) 7
() 6
@ 1

A — RRAN-B-MTH



. §1 wﬁ:zﬁh‘q&amawqasaﬁwﬁ%

69.

wsr—, 3/ %Wrm IR 4k & @™
Wem%ﬁwﬁT%ﬂﬁ
T8 ?

@ (1,42,1)

®) (1, -2, 1)

© @, -2, -1)

@ 1,42, -1)

. TF Fe-amg & we # frafafem w

fomm s .
1. T fag & ufa: s-ampf, a0 &
IR fog & = 2
2. U @1 & uRa: oer-3mel, T
afey ufyr 2
SYdTh HEAI § | HH-°1 /-8 el
/R ?
(a) a9 1
(b) Faw 2
(c) 13K 2gmMt
(d Far1, T2

fereft wfewr. 7 & forg,

FDExD)+FNEX])+F- R x k)
fepers saR 2

0

b 7
() 27
@ 37

RRAN-B-MTH - A

26

70. w7 #forg 4 afemr & 3 wfew @ ok

T1.

72.

Emgwmg,amﬁ:zz’
% o & ORI TR ?

@
(b)

(©

Al &3 w|y |y

(d)

A WY yy(x) R py(x) S
FHIEHTT %:x F A e T oA
71(0)=0 R p,(0)=4, T T y,(x)
3 ¥a(x) & wf=ag ﬁg‘dﬁ $r "
ferat 2 2

(a) % fog e

(b) T fog

() @ fag

(@) R fagert & sifern

% y = e*(a cosx + b sinx) el a JR b
W IR ¢, & e &= g9
kel TR §

AR TR
() ) Yy
dy
L BN L g, So oy
il e s
c ——
© dx?

(d) "d;.b,-+y=0



67.

68.

69.

If a vector of magnitude 2 units makes
an angle% with 27, % with3f and an
acute angle @ with 42:, then what are
the components of the vector ?

@ (1,+2,1)
®) (1, -2, 1)
© @, -2, -1
@ @1,+2, -1

Consider the following in respect of
moment of a force :

1. The moment of force about a
point is independent of point of
application of force.

2. The moment of a force about a
line is a vector quantity.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

For any vector 7, what is
- DED+F DD +F-BFx k)
equal to ?
._)
(@) 0
b) 7
©) 27
@ 37

27

70. Let o and 7; are two vectors of

71.

72.

magnitude 4 inclined at an angle %,‘
then what is the angle between

— -
a and a—-b ?

@ 5

V(4
b 3
(© %
@ %

Let y,(x) and y,(x) be two solutions of
& =x. If
dx

¥1(0) = 0 and y,(0) = 4, then what is the
number of points of intersection of the
curves y(x) and y,(x) ?

(a) No point

(b) ‘One point

(c) Two points

(d) More than two points

the differential equation

The differential equation, representing
the curve y = €*(a cosx + b sinx) where
a and b are arbitrary constants, is

(a) Zz—+2y=0
(b) -&-x—2—+2a+2y=0
(c) ?—2—+2y=0
(d) Ex—2+y=0

A — RRAN-B-MTH



73,

74.

75.

afe fix)=ax—b #R gx)=cx+d 5@

wr § B fle)=g(f®), @
frfafea & ¥ a1 @8 2 2

(@) f(d) = g(b)

(b) f(6) +g(d)=0

() f(a) + glc)=2a
(d) f(d) +g(b)=2d

1
[, (3sinx—sin3x)cos’xdx fors

R & ?

(a) =y

(®) 0

©

N[-—-

B

(d)
el GHIEHT

-]

3R ua T ?

_d%
&t

& wHA: Hife
@) 2,2
®) 2,3
©) 5,2
@ 2,5

RRAN-B-MTH - A
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76.

71.

78.

afg %:23”}!3, y(0)==a

B | =

4y%(2 —¢*) Tormreh sRER B ?
(@) 1
(b) 2
() 3
(d 4

A o p=_[ff(x)dx E1

i j’ s & | 2R f) ==,
frafafa s a - agr & 2

@ p=2
®) p=-¢q
() 4p=g¢
d p=¢q
J'z a:i-sinx i Read
0 2a+sinx+cosx
@ 7
T
(b) 2
(c) 1
@ 0

. b 98 WO AW w1 ¢ e fog

16x° 3
WT—%x +x T x>0 IRER #

7 sfteew 79 ® #R T & g
HH R ?

@ 0<b<l

(b) 1<b<2

€ b>2

@ 0sb<l1



73.If f(x)=ax—b and g(x)=cx+d are

74.

75.

such that f(g(x)) = g(f(x)), then which

one of the following holds ?
(@) f(d)=g(b)

(b) f(b) +g(d)=0

() f(a) + g(c)=2a

(d) /(@) + g(b)=2d

1
What is -[_l(3sinx — sin3x) cos’xdx
equal to ?

1
(a) A

®) 0
© 3
e
@ |

What are the order and degree respec-
tively of the differential equation

29

76.

1

78.

79.

If %:23"}:3, y(O):% then what is
4y%(2 - €*) equal to ?

(@ 1

(b) 2

(¢ 3

(@) 4

b b
Let p= [ 7Gx and ¢ = [ /ol

If f(x)=¢e*, then which one of the
following is correct ?

(@ p=2
®) p=-¢
(©) 4p=¢
d p=gq
% a+sinx
What is Iz - dx equal
0 2a+sinx+cosx
to ?
/4
@ o
/4
®)
(© 1
d o
The non-negative values of b for

3

which the function L —4bx* + x has

neither maximum nor minimum in the
range x > 0 is

(a 0<b<l1

(b) 1<b<2

(c) b>2

(d 0=sb<l1

A — RRAN-B-MTH



. O, R I I G B (02) wEEi F fm
g Jal-x e Y] Frafafes = fer $iftg
¥ wewt § Frafufee & o-m @@

g7 | a1 ohiforg f(x)=ﬁ; (x>1)
(@) flx) F TS WA & AR gx) F
I Wid Tl o 83. frrmfafaa wumt w fomm difsig
(b) fix) 1w W T ® R g(x) L. f(x) ST (e, o) F FHATT &
TS WA ® 2. f(x) AT (1, &) & AW ©
(©) f(x) IR glx) & Wid THEAN § 3. 9In7 > 7In9
@ f0) 3 gx) T B wiw 7 ¥ Iudes wel % ¥ A wd E
FA T A @ (02) wwE ¥ fr (a) ¥ 1 3K 2
WHWW%Q (b) Faa 2 3R 3
3cosx+4sinx , (c) Faw 1 3R 3
ﬁ?ﬂ?ﬂﬂ%ﬁﬁ 2cosx+Ssinxdx_
e @ 1,2 3R 3
— +-—In|2cosx +5sinx|+c
29 29

84. fr=forfaa sot w e $ifsme .
81. o & HIF FT § ?

@ 7 WACEE

ot 2. f(x), x =¢ R ®EY FAad qH

(c) 17 ! W SRl §

(d) 26 3. f(x) & ST FEaH A7 e ®
82. p 1 W FI B ? S FaAt § ¥ AR w7

@) 7 (a) Fad 1 3R 2

(b) 13 | (b) Fa@ 2 3R 3

() 17 (c) %@ 1 3R 3

(@) 26 @ 1,233

RRAN-B-MTH - A 30



80. Which one of the following is correct Consider the following for the next two (02)
items that follow :

: 1
in respect of f(x)= and
Q|x|—x Let f(x)zli; (x>1)
nx
()= ?
’ ;jx —|x| . 83. Consider the following statements :
(@) f(x) has some domain and g(x) has L f(x) is increasmg in the interval
no domain (e, )
(b) f(x) has no domain and g(x) has 2. f(x) is decreasing in the interval
some domain (1, e
(¢) fix) and g(x) have the same 3. 9In7 > 7In9
domain

Which of the statements given above
(d) f(x) and g(x) do not have any are correct ?

s i (a) 1 and 2 only

Consider the following for the next two (02) (b) 2 and 3 only

items that follow :
(c) 1and3 only

G th 3005x+4sinxdx_
YR T 3 2cosx +5sinx (d) 1,2and3
o B, . | .
E"'E‘S‘,‘b’ [2cosx+5sinx|+c 84. Consider the following statements :
81. What is the value of a ? 1. f"(e)::]"'-
(@ 7 2. f(x) attains local minimum value
(b) 13 alx=e
(©) 17 3. A local minimum value of f(x)
is e
(d) 26 :
Which of the statements given above
82. What is the value of 8 ? are correct ?
@) 7 (a) 1 and 2 only
(b) 13 (b) 2 and 3 only
) 17 (c) 1 and 3 only

(d 26 (d 1,2 and 3
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IR IW oA @ (02) vt & fog
frafafes w fmr fifso .

a1 SR A e f(x) IR g(x) T TR B
5 g(x)=x- oK fog(x)=x3—;1§-
85. g f(x) — 3x] feres SRR ® ?

86. f"(x) fereer sT=T ® 7
)y

2
(b) 2x+-—§ :
X

(c) 6x+3
(d) 6x

AW AW A q (02) wwwi ¥ fau
frafafaas w e $ifse :

AR R ) =|x+1 3R gx)=[x]-1,
wet ] st quifes e ® |

A ST A(x) L)
g(x)

87. frfafea saai w fewr 6ifsg
1. f(x) @1 x < 0 & fog s €
2. g(x), x=0-0001 W Fd §
3. g(x) T x=2-5 W e 1 &

RRAN-B-MTH - A 32

I7deh FuAEl # @ FA-¥ wE R ?
(a) ae 1 3R 2

(b) Fa 2 3R 3

(c) ¥aa 1 3R 3

d 1,23R3

x—0-

88. lim A(x)+ 11%1 h(x) feredh s=R B ?

(a) 55
(b) 3
(©

(d)

Rjlw N —=

I AW A @ (02) wwal & fam
frafafas = fer $ifso
HE A q:v(a)=r+wm|sinx|dx
89. ¢(a) fFes sT=R © ?
(a) 0
() a
() 100a
(d) 200

90. ¢'(a) forass sReR 8 ?
(@) 0
(b) = -
(c) 100
(d) 200



Consider the following for the next two (02) Which of the statements given above

items that follow : are correct ?
Let f(x) and g(x) be two functions such that (@) 1 and 2 only
1 1 ) 2 and 3 onl
g(x)=x-— and fog(x)=+"-—. ° 4
o X () 1 and 3 only
85. What is g[ f(x) - 3x] equal to ? (d) 1,2 and3
g 1
X 88. What is lim A(x)+ lim h(x) equal
x—0- x—0+
to ?
b) xP+- %
: X 3
1 @ ~3
© x*-—
& 1
)=z
@ **+— :
= 1
86. What is /"(x) equal to ? © 3
2 ' 3
(a 'x3 (d) E
(b) 2x+ %- Consider the following for the next two (02)
x items that follow : :
(c) 6x+3
a+1007
(d) 6x Let p(a) = |sinx|dx
a
Consider the following for the next two (02) -
items that follow : 89. What is ¢(a) equal to ?
Let f(x) =|x| + 1 and g(x) = [x] - 1, where [.] @ 0
is the greatest integer function. () a
bty = f(x) (c) 100a
g(x) (d) 200
87. Consider the following statements : 90. What is ¢'(a) equal to ?
1. f(x) is differentiable for all x < 0 (@ 0
2. g(x) is continuous at x = 0-0001 (b) =
3. The derivative of g(x) at x=2-5 (& 10
is 1 d) 200
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I FW oA q (02) wwwi F fog ) 0

frafafes = e fifvo: @ 1
T HaeheId Fe f(x) H T Afteman 2
AAx=0R & | 2
BREGPOLS SR IEY 94.J'0h(x)dx‘%l=laiw%?
91. Freferfem # & a-w1/aw-¥ wé !
t/% 7 i
1. £(0)=0 el
2. f"(0) <0 :
H¥ fow 70 Fe @ W@ W HE SW @ 3
i :
(@) Fae 1 I FW A O (02) uwwi & fog
i B 3 Poafifn w o dif:
dx
© 1923 R [ a4
@ TN T2 Hayd 4o

o2, frefifee # @ frod Ry Sy wr YR QWA WR?

x=0 R Infas e 7w € ? (a)l

@@ a>0,b=0 3

(b) &5t b 3R a=0%F forg o=

© ¥ @i b > 0% frg e

@ & a 3R b=0%F forg %

d e

I AN T A (02) wwwi ¥ frg Sa
frrafafaa w AR At 96. B HF ¥ & ?

A\ T f(x) = |x - 1], gx) =[x] 3R 2

h(x) = f(x)g(x) STel [.] Afereram quiieh Her e

?1 {

(b) pre

93. flh(x)dx fiFess w7 ]

) -

3 3

) 2

g @ 3
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Consider the following for the next two (02)
items that follow :

A differentiable function f(x) has a local
maximum at x=0. Let y = 2f(x) + ax - b.

91.

92.

Which of the following is/are correct ?
1. f(0)=0
2. f"0)<0

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

The function y has a relative maxima
at x=0 for

(@ a>0,b=0

(b) for all b and a=0
(c) for all 5 > 0 only
(d) for all a and b=0

Consider the following for the next two (02)
items that follow :

Let f(x)=|x— 1|, g(x) = [x] and
h(x)= f(x)g(x) where [.] is greatest integer
function.

93.

0
What is I_Ih(x)dx equal to ?

3
(a) =5

(b) -1

35

(©

0

1
(d) )

94, What is I;h(x)dx equal to ?

Consider the following for the next two (02)

items that follow :

Let

J.Jx+laix~/x——1

>
=a(x+1)2 +

o
B(x-1)2 +c

95. What is the value of a ?

@

(b)
(©)

(d)

= Wl W~

W

96. What is the value of 8 ?

(a)

®)

©

(d)
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AW AW A F(02) Wi & fog
frfofes w faur i :

Qsz+);—2x=0ﬁ,}@Ty=x§TUa@
# fawfra frar mar @ | 7@« 4, 4,
T 4 AR WY Gel & &G ¢ |

97. A, WH FT § ?

x=2
=

(b)

=
&+
e

©

(d)

2(A, + 4;)
AI -3A2
(a =
(®) 1
() -1
(d -=n

dWM FW G @ (02) wemai & fog
frefafes w faer &ifso

A Hifwe 3f(x)+f(%] =%+1

98. AR TR ?

99. f(x) foFass seR ® 7

36

(©

()

100. sflzf(x)dxﬁm%a T R ?

(a) In(&/; )

(b) In(fhfz )

(c) In2
d in2-1

T A S FHe AR 4T e T |
fts agfees &1 d @ i e
2 | = wilear ® & 3 QFt R = @
a1 # e

101.

@ ¢
i
®) 108

4
(©) 9

5
@ 15

102. 7f§ w& ARfees =R (x) foug siet =
e Far ¢ fmer @ 5 oEk
WO 4 § 3R 5BpY=3)=2r4" @
AH AE FT S 7
(@ 3
(b) 5
{c) 23
@) 25



Consider the following for the next two (02) S

items that follow : . © i B F
The circle x>+ y*—2x =0 is partitioned by Ra
line y=x in two segments. Let 4;, 4, be d —=+=
the areas of major and minor segments Sx1% oo
respectively. :

100. What is 8] *f(x)dx equal to ?

(a) In(S«/E)

97. What is the value of 4, ?

n-2
@ 7
() In(4e)
mT+2
by = © In2
@d In2-1
© -2
ey 101. A bag contains 5 black and 4 white
balls. A man selects two balls at
@ 3n+2 random. What is the probability that
4 both of these are of the same colour ?
A
98. What is the value of 21t 42) o 1
A 34, @ ¢
(@ =
() 1 ® Tos 108
(@ -l 4
@ -n © 3
Consider the following for the next two (02) @ —
items that follow :
Let 3/(x)+ f("l'J L 102.1f a random variable (x) follows
xX) X binomial distribution with mean 5
and variance 4, and 52P(X = 3) =4,
99. What is f(x) equal to ? then what is the value of A ?
¥oiwod () 3
@ 3372 ®) 5
: 3 ;9 3 (c) 23
®) 8x 8 4 (d) 25
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103.

104.

W (-4,1), (-1,2), DI G, 1A
y &Y x W GHBEY @My =a+ bx Y0
H SR, ¥ 20 + 155 H A 1R 7
(a) 6
® 11
() 17
@ 21

WFﬂﬁ"{x+2y+l=03ﬂ'{
2x+3y+4=0 T GIBET @Y § S
et fe=x 3o @ ofwfeorm & o€ 2
Ife @ 1 qFl & w9 gEER 7, @
488tan30 & T T § ?

(@) 191

“(b) 161

105.

- ©

106.

) 131
@ 121

afe @ agfes | X #R Y "@&y

2X-3Y _
5X+4Y_4 ¥R R R x

HeA ol AN GRaT § e W
1

(a'{mc\'d?)n=103ﬂ'{p=5%,?‘ﬁ}"ﬂﬂ
TET HT E 2

810

361

2

19

21

361

121
361

(a)

(®)

(d)

1 1
+_
b—a b-c

uﬁa,b,cmﬁ%,ﬁﬁ
feraes s © 7

RRAN-B-MTH - A

38

107.

108.

Q= o

|-

+

1(1 1 1]

. S e s o

2vd~b e

A Ry 17 Fe¢ w FEN W & IN
(a) e 1

(b) T 2

(c) ¥ae 3

@ 1,233

T& W A9 AR 9K ast # 150,
200, 250, 300 ®9T, wfer wiex A W |
o ® | WM ST 3 9 ant # U
ofEr ¥ wfed s am ey o
w® @H &, oo w1 wia s siea 7=
At § (SRTHT) TR 7

(a) 210

(b) 220

(c) 230

(d) 240

Ife w8 “TIRUPATI” & Uil (37&R1)
F agfeos w9 F forar s, @ F:&
widwar ® & Qi T &fem @maR
HTa ?

(2)
(b)
(c)

(d)

Bl= NI Bl =



103.

104.

105.

106.

From data (-4, 1), (-1, 2), (2,7) and
(3, 1), the regression line of y on x is
obtained as y = a + bx, then what is the
value of 2a+ 156 ?

(@) 6

(b) 11

fei 17

(d 21

Let x+2y+1=0 and 2x+3y+4=0
are two lines of regression computed
from some bivariate data. If 0 is the
acute angle between them, then what is
the value of 488tan36 ?

(a) 191

(b) 161

(c) 131

(@ 121

If two random variables X and Y are
connected by relation

2X-3Y

5X +4Y

distribution with parameters n» = 10 and

p=%,thwhatisthevm'ianceof}’?

=4 and X follows Binomial

810
361

Ly
19

21
© 361

(a)

(b)

121

@ 361

If a, b, ¢ are in HP, then what is

: 4-L equal to ?

b-a b-c

107.

108.

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only.
(c) 3 only
(d 1,2 and 3

An edible oil is sold at the rates 150,
200, 250, 300 rupees per litre in four
consecutive years. Assuming that an
equal amount of money is spent on oil
by a family in every year during these
years, what is the average price of oil
in rupees (approximately) per litre ?
(a) 210

(b) 220

(c) 230

(d) 240

If the letters of the word “TIRUPATI”
are written down at random, then what
is the probability that both Ts are
always consecutive ?

(@)

B |

(®)

(©)

’;I,_. S [ [T N

(d)
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109. A T m=77" ® | A& n H

agfeas &9 ¥ o9 quidm wW fen
STt ® | 4 Wit ® foh om & WA A

THE & WM W 1 AT ?

1
(a) )

W | -

®)
1
© 3
1
@ 5

110. TEelt 15 gqt wems & ¥ i fw

Tem agfees w9 ¥ A 9 ¥
w1 wifkear 6 =8 & S demst o
TOFEA dE0 G & SWEK § ?

1
@ 5

(b)E

1
(c) T

6
@ %55

IR FW oA @ (02) wemwi & few
frrafafag w faer i :

A AT 4 3R B 3 ¥ W WER §
P(AUB) = 0-75 3K 0-125 < P(ANB) < 0-375

R

RRAN-B-MTH - A

111. P(4) + P(B) & Taa® WF T § ?
(@) 0625
(b) 0-750
(c) 0-825
(d) 0875

112. P(4) + P(B) & flews wF #1 & ?
(a) 075
(b) 1-125
©) 1375
(d) 1-625

AW I G @ (02) Wi F fog
frrafafes w fmw $ifs

A, B 3R ¢ &9 wead =W WaR § &
P(4) = 06, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 03 3R P(ANBNC) = 02 R
P(AUBUC) = 0-85.
113. P(BNC) & “FqH A F1 & ?

(a) 01

(b) 02

(c) 035

(d) 045

114. P(BNC) &1 HAftehaw w14 7 8 ?
(a) 01
(b) 02
(c) 035
(d) 045



109. Let m =77". The index n is given a
positive integral value at random. What
is the probability that the value of m
will have 1 in the units place ?

B | =

(a)

(b)

(SRR

|

(©

(d)

N | -

110. Three different numbers are selected at
random from the first 15 natural
numbers. What is the probability that
the product of two of the numbers is
equal to third number ?

1
(a) 91
®) 7=
)

@ 2

Consider the following for the next two (02)
items that follow :

Let A and B be two events such that
P(AUB) = 0-75 and 0-125 < P(ANB) < 0-375.

41

111.

112.

What is the minimum value of

P(A) + P(B) ?
(a) 0-625
(b) 0-750
(c) 0-825
(d) 0-875
What is the maximum value of
P(4)+ P(B)?
(a) 075
() 1-125
(c) 1-375
(d) 1-625

Consider the following for the next two (02)
items that follow :

A, B and C are three events such that
P(A) = 0-6, P(B) = 0-4, P(C) = 0-5, P(AUB) =
0-8, P(ANC) = 0-3 and P(ANBNC) =0-2 and
P(AUBUC) = 0-85.

113.

114.

What is the minimum value of
P(BNC)?

(a) 0-1

(b) 02

(c) 035

(d) 045

What is the maximum value of
P(BNC) ?

(a) 0-1

(b) 02

(c) 035

(d) 045
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AN HA G O (02) wwEt & fog
freafafaa w fer $ifs

s fia R Y n 9 o ST © |
F Y FH TEH oA IH e Wil p @
R & & oA o o AW B Wil ¢ ®

Mp-g=sst |

115. n & A9 &7 § ?
(a) 4
() 5
() 6
@ 7

116. p+q & 99 Fa1 & ?

57
32
53
32

51
(©) E%)

@ 1
aﬁarﬁ#@rﬁ(oz)umﬁ%fﬁq
frafafea w femr difsa -

%11 2 3 ol n
R i | 2 R

(a)

()

42

2"y py2
2?!"‘1
2?I'+1 o 2
2!!

©

()

118. Sie & HIET H|T § ?
gl g0
2" -1
2" _poo
2]!—1
2H+l_n_2
2" -1
2H+I_

(a)

(®)

©

n+2
2!!

(d)

I JH G} (02) wenwi & fag
frafafa w fer it

wiferdht € qden # 10 3 gro ww B
T 3 24, 47, 18, 32, 19, 15, 21, 35, 50 #R

41 % |

119. G918 &S U= Yequit =1 Ared fomem wn
?7? |
(a) 48
(b) 55
(c) 6
d 75

120. 99 S U WAV HT RO 4T § ?
(a) 146
(b) 21-8
(e) 252
(d) 468



Consider the following for the next two (02)
items that follow :

An unbiased coin is tossed n times. The

probability of getting at least one tail is p

and the probability of at least two tails
5

isqandp—q=§.

115. What is the value of n ?
(a) 4
®) 5
() 6
d 7
116. What is the value of p+ ¢ ?

57

@ 3

53

(b)f

51
32
@ 1

©

Consider the following for the next two (02)
items that follow :

1 2 3 n
1 2—1 2—2 2—(n—l)

X

i

117. What is )''x; f; equal to ?

* 2

(a) 2ﬂ—|

21’!‘1’1_"_2

(b) 2n~1

43

e S

(C) 2ﬂ-l

28+] _"_2

@ o

118. What is the mean of the distribution ?

g )

s

2!!1'1_”_2

(b) 2n—l

2ﬂ+l_n_2

© —%

p¥dD S un

@ o

Consider the following for the next two (02)
items that follow :

The marks obtained by 10 students in a
Statistics test are 24, 47, 18, 32, 19, 15, 21,
35, 50 and 41.

119. What is the mean deviation of the
largest five observations ?

(a) 48
(®) 55
(© 6
(d) 75

120. What is the variance of the largest five

observations ?
(a) 146
(b) 218
(c) 252
(d) 468
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